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1.1

(a) Allowing a score of 1 for a match, -0.5 for a mismatch and a linear gap cost of -0.5 per gap, use the global alignment algorithm to complete the following scoring matrix. Using the filled matrix, determine the optimal alignment for the two sequences:
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(b) Use Smith–Waterman algorithm to find the similar segment between the sequences, write down the optimal aligned segment:
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(c) Find the Longest Common Subsequence:
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1.2.

What four parts does dynamic programming algorithm consists? In what situation we can apply dynamic programming algorithm? Please refer to “what is dynamic programming”, 
http://www.lmse.org/assets/learning/bioinformatics/Reading/Eddy2004NatureBiotech_DP.pdf (Eddy et al., 2004)




